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Solutions

S1. Ans.(d)

Sol. Whole numbers =0, 1, 2, ........... n

Sum of N numbers starting from 1 = w

M number = 151
Sum = 22 = 151 % 76

Unit digit=6

S$2. Ans.(a)

Sol.
Sum of AP ==[2a + (n - 1)d]
ntterm=a+ (n-1)d
Féterm=a+(3-1)d
=19
a+2d=19 (1)
sum of 10 term
=2%2a+9d] =390
2a+9d=78 .(ii]
a+2d=19 (1]
from equation [i) and (ii)

S3. Ans.(c)
Sol. For divisibility by 8, last 3 no should be divisible by 8. Publications

Now, put the value 0. 1, ...2... and check.
when use * = Bi:
=79

So, Hence it is divisible by 8 answer is 3. ssc cal

TIER-1 / PRELIMS

S4‘. AnS.(C) Previous Years' Papers &
Mock Tests Practice Book
Sol. (English Medium)
Ul‘lit djgit Df‘ This Edition Includes 5‘::::::::‘:’:
(151)*37 =1
{536]!6?4 = 5 .
(865)%=5 = - PA”Sh:f.“
(286)** =6 201762016
Also useful for S5C CPO, CHSL, MTS & Other Exoms
Required unit digit- 1 +6+5+6=8 ) ®
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S5. Ans.(b)

Sol.
=0 1
zz._ 1
—+2 2+3+1i
E
!
CER T
=53, 58
"85 130
=2
$6. Ans.(c)
Sol.
Let number are x and y.
ATQ,
xxy=48
total fingers in one hand
T
2+5x%x2
andx = ——
3
12
- — = 4_.
3
48 12
y= P
S$7.Ans.(d)
Sol.

Xyz=100x+ 10y + =

xzy = 100x + 10z +

NZy — NyZ = 45
100x+ 10z + y - 100x - 10y —z = 45
Oz - 9y =45

z-v=5
$8. Ans.(c)
Sol.

LCMof(9 11,13)= 1287
Number's = 1287 + 6= 1293
Least no. that must be subtracted
=1294-1293

=1
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$9. Ans.(a)
Sol.

SL:, 9].2. ng 98

biggest one is = 912

W=

=3

$10. Ans.(d)

Sol. ATQ,
287 x 287 + 269 = 269 - 2 x 287 x 269
a= 287 ,b=269

aZ + b2 - 2ab=(a-b)2 = (287-269)2 = (18)2 = 324

$11. Ans.(c)
Sol. Given Series
1 1 1 1

3x7 7x11 1ix1s T899 x 903
Multiply & divide each term of above eqn. by 4

B 1[ 4 N 4 4 N 4 ]
C4l3x7 " 7x11 " 11x15 899 x 903
1['1 1 1 1 1 1 " 1 1]
4l3 7 7 11 11 15 899 903
1 1 4
As we know —-— = , similarly other also
3 7 3x%x7
1['1 1 ]
= ==
43 903
addazy1
- 1 y (301-1) & & testseries
4 903
500 25 SSC CPO PRIME
= =
4%903 301 (TIER-I + TIER-I1) 2019
40+ Total Tests
S12. Ans.(b) v 20 Tier-| Mocks
Sol. v 14 All shift Papers of 2017

v~ 10 Tier-1l Mocks

_ ..z
Sum of Ist n odd numbers =n v 20+ eBooks

Required sum = (39)%=1521
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$13. Ans.(a)
Sol.
5k+3

Cube of Number = (5k + 3)3
=125k®+ 27 + 15k (5k + 3)
Square of the Number = (5k + 3)°

=25k +9 + 30k
=25k +30k+9

Sum of cube + Square of the Number

=125k*+ 27 + 15k (5k + 3) + 25k* + 30k + 9
=125k*+ 15k (5k + 3) + 30k + 25k* + 36

Reminder =

125k" +15k Gk +3)+30k +25k° | 36

So, Remainderis 1

$14. Ans.(c)

Sol.
For divisibility of 11.
= 756896

=9+6+7)-(6+8+5)=3

J Reminder

5

1

So 3 should be added to No to make it divisible by 11.

$15. Ans.(a)

Sol. Let the number = x
then according to question
=21 xx+ 100 =x°
x%-21x-100=0
x*-25x+4x-100=0
¥(x-25)+4(x-25)=0
(x+4) (x-25)

x = —4 is not possible
x=25

$16. Ans.(b)

Sol. Let angle = 6
Another angle =90-8
Atq,
6=5(90-8)
6B =90%=x5
8=75

J Reminder
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$17. Ans.(b)

Sol. Sum of two supplementary angles is = 180°
ATQ

7y + 58 + 16y + 53 =180

23y +111=180

23y=69=>y=3

Required value =19y =19 x 3 =57

$18. Ans.(c)
Sol. 54°54’ = 54° + Z_‘;o
Error = 54° + 240 _ 54° = 544
60 060 : ,
Percentage error = S X E0 x 100 = 3= 15% — 1.66%
$19. Ans.(b)
Sol.

180-125=535

55+25 = R0

B0 + 35 =115
xy
Q 18080=100] R 9
x=115
v =90
Requiredx-y=115-90= 25

$20. Ans.(c)
Sol.

C D

addazyi
& & testseries

SSC CHSL PRIME

2019
350 + Total Tests

25 Full Length Mocks
140+ Previous Years' Papers
200 + General Awareness Topic wise Sets

BILINGUAL
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LAFG=+£D+ 2B [Bv ABDF]
LAGF=£C+ £E [ by ACEG]
In AAGF

FAGE + #AFG + 2GAF =180
=s/C+sE+sD+ 2B+ £A=180°

S$21. Ans.(b)
Sol.

5x=180-125=>x=11
y=180°-[85+2 %X 11] =>y=73°
Required = 2x+3y=>2 X 11 +3 x 73
=22 +219=241

$22. Ans.(a)
Sol.

1 2':"]'
Q ' R
LP+2Q + £R =180
Q+2Q+20=180

8 =36"°
LR=20=36x2=72

$23. Ans.(d)
Sol.
P
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ZR5V =180°-112° = 68°

A aljn:|||El ti
ol catlians
= PQ || RT and QR || UV °
Then, £VSR = £5RQ = £RQP “THE CRACKER”
A=68" PRACTICE BOOK FOR
- ALGEBRA &
vnierssccaticro]  NUMBER SYSTEM
S24. Ans.(a) Y :
Sol.
S
S 1300+
A Ij THIS EDITION INCLUDES QUESTIONS
> Important Concepts and Formulae
e
;HWiM}hﬁam
C D
E F

£QRS =95+ 55=150°

$25. Ans.(c)

Sol.

Acute angle < 90

Sum of liner angle pair = 180
Another angle = 90

Or, obtuse angel
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